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Tangible: Making mountains






Clickers
1. A proton enters a capacitor through a tiny hole. System: everything

Which is true?
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2 An electron enters a capacitor through a tiny hole. System: everything

Which is true?
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3 The electric field is uniform in this region. Bis at < 2, 2, 0> m.
Cisat<2,0,0>m. E=<0,-300, 0>N/C

Whatis AV along a path from B
A B to C?
A) +150 V
B)-150 V
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4 The electric field is uniform in this region. Bisat <0, 0,0>m. Cis at<
0,-2,0>m. E=<0,400, 0> N/C

What is AV along a path from B
to C?
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5 The electric field is uniform in this region. B is at <0, 0, 0> m.
Cisat<0,-2,0>m. £=<-200,-300, 0> N/C

What is AV along a path from B to C?

A 0V
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6 The electric field is uniform in this region. Bis at < 0, 0, 0> m.
Cisat<0,-2,0>m. AV along a path from B to C is =500 volts.

A,

What is the magnitude of the
electric field in this region?

B) 500 V/m
C) 750 Vim
D) 1000 V/m




Ponderable: Non-uniform fields
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-1
slope = -1/.1 =10

/ slope = 2/.05 = 40

slope = 3/.15 =20
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Tangible: Non-uniform fields
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Clickers: Non-uniform fields

Without doing any
9V/m | 400 V/m calculations, what is the sign
A X a ﬁ * B Of VB - VA ?
S R S s J A) positive
T negativ
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What is Vg- Va?
2V/m | 400 V/m A)-20 V
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To calculate Vp — Ve we
should use:

st s e e A) 1 path segment
— " . | B) 2 path segments
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What is Ve-Va?

)i~
C) +33?5 Vv
D) -3375V
E) none of the above




Discussion: Potential at e point
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Ponderable: Unit games



Ponderable: Field in a capacitor

E= <{300,0,0) ‘\JZ




Tangible: Charged spheres
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